The Answer iIs...

What's the question?




9+9=18 1000-982=18 10+8=18

_|_

9+2=18 -

>< 3x6=18

100-80-2=18 69-51=18 2x9=18






50+50 30+70=100 40+60=100

[ ]
200-.2=100 - >< 50x2=100

200-100=100 300-200=100 400-200-100=100



Shapes

Sudoku
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Each row, each column and each of the large four squares
should have one of each image. Fill in the blanks!

.1 .2 A3 I4




Ordering from smallest to biggest

. 1396127711369 | 727 || 693 || 772

400 300 400 700 700 800

2120511214 ||277 (1209|240 || 210

200 200 300 200 200 200

2 | 444 || 404 || 440 | | 414 || 441 144

400 400 400 400 400 100

« 678|786 | /867|876 | | 687 || 768

700 700 900 277 o9



Match these numbers to the correct answers.

736 Eight hundred thirteen
813 Three hundred sixty-four
507 Seven hundred thirty-six
364 Five hundred seventy
570 Five hundred seven

484 Two hundred ninety-one

291 Four hundred eighty-four



Addition & Subtraction Multiplication Add 1 or 10 or 100 Division
1M1 +9= 10x6= 256 + 10 = 50+10 =
5+13= 6x5= 389 + 100 = 6+3=
7+5= 3x2= 36+1= 4+2=
7+9= 4x2-= 679 +1 = 40+4 =
10+10 = 5x10= 700 + 100 = 10+1=
14 +4= 10x4= 82+10= 18 +9=
5+9= 4x10= 789+ 10 = 16 +8 =
6+9= 3x5= 654 +10 = 20+10 =
7+9= 10x10= 499 + 10 = 20+5=
10+10= 5x4-= 59 +10 = 20+2=
14 +4 = 3x2= 345+ 100 = 14+2=
16-2= 4x5= 299 + 1= 35+5=
12-8= 5x3= 322 + 100 = 10+10=
12-6= 2x8= 56 +1= 30+5=
20-7= 10x6= 278 + 100 = 70+10 =
2+13 = 4x5= 12 +100 = 12+6=




